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Time : Tw@ﬁgou&} Maximlin%QMarks : 50

O
N.B. @) < Answer Q. No. 1 or Q. No. % No. 3 or
05} Q. No. 4, Q. No. 5 or Q. No. 6, Q. No. 7 or Q. No. 8.

»\E’(‘ii) Neat sketches must be drawnmqg\%erever necessary.
Ny (iii) Figures to the right icat@lf{m marks.
(lv) Assume suitable QD if Q%aéessary.
(v) Use of electro@ocl@s\;\calculator is allowed in the
examination. 0 Q(f;(\\)
(vi) Use of ce]@}dne\(}} prohibited in the examination hall. o
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1. (@) Enlist and explad@ ‘the function of each of the instru ts
required for I@le table surveying. Q)C? [6]
: , N
(b)  Following rngﬂings were observed during a @?ﬁrgﬁaﬂ’ leveling
)" [6]

with one level :
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Instrument at Staff Readings o Q\ Q’Q%emark

A 1—’0§ o
A 0.656 . Q}Sﬁ)istance between
B 0.867 .29%3?% A & B is 950 m

(1) Find the true R.L. of B,,%ﬁ‘R.L. of A = 378.655 m.
\b‘\' P.T.O.
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(i) Find the comblned\cj)rrectmn due to curvature and

refraction. Q,

(zi1) Find tl@olhm ion error.

@) oS

Qf

oo o

2. (@) Co th %earlng of a closed traverse PQRSP for a‘local
)

ti \qf any. [6]
o
in PQ QR SP
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@%i; B. S45°30'E S60°00'E @0 E N83°30'W
.~ BB. N45°30W  N60°40'W c’20 W S85°00'E
N

(I;Q? Explain the need and proce%%vof t?ik terms profile levelling
and cross-sectioning Wli:W\%tck{gﬂs\y in a road project. [6]

£

3. (@) Define the followix% r sQ)

Transiting, Teleﬁ} no al, Latitude, Face right. [4] o
(b) A tacheometer S {%bt up at a station A and the followi

reading were obt%glg(gﬁ on a vertically held staff. The cons% S

of the 1nstrun§§ht were 100 and 0.1 C§) [8]

%0

Station Staff s %mn Vertical Hair readin \ f@emarks
< M
angle (in mtmujgjQ q .

B.M. —4°22'  1.050, 1. \15@\ R.L. of B.M.

Q +10°0° 0952& %\%8 is = 1958.300

g) \(}} mtrs.
Find the horizontal distance fr to Q and the reduced

level of station Q.
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4. (a) Determine the missin&ﬁa_a for the following table of a closed
j N
traverse AB Y \;7 [8]
QB N
Line ﬁ«) O BC CD DA
Length (m@\ 230, 250.2 210.8 -
Bearing 0 @!%‘6045'E S82°48'E S10°15'E -
N |
(b) ain\(ﬁ‘le laboratory method to determine t{]:%‘e_; tacheometric
con ?111\%"5. s [4]
o &
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5. (a) \Wwo roads AB & BC meet§\at any ngle of intersection
e , o
"~ 127° 30" at a chainage of l@n. C@lculate the necessary data
for setting out a curve @ @s of 150 m by offset from
long chord method. N (\9\’ [7]
(b)  Enlist various lin et@q}s of setting out curves and explain
any one with @ch 'Q’)
Y &
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» o
6. (@) What is mea\.g?ﬁy by “transition curve” ? What a@ th‘ different
N -
forms of a transition curve ? Give reas%@o &Tp?:)duce the
transition curve. ® ’(\Q [6]
(b) Two tangents AB & BC meets at b'thﬁ@ecﬁon angle 40°
at a chainage of 1280 m. Cal lﬁe}e necessary data for
setting out a curve with radius %w\m by One theodolite
(with 20” L.C.) method take pe(g);;}'nterval of 20 m. [7]
[5152]-504 3 \b}r‘ P.T.O.
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7. (@) Write a short note on s@’)ents of Space Based Positioning
System. Cgo [6]
J N

(b) Write a not@%} sgeﬁ:?ng out a building. [7]
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8. (@) Enli c itations of the prevalent survey techniques and

QO
@ ve\(gﬂvantages of Space Based Positionip;?, System. [7]

(b) Enlifs'ﬁ)‘and explain various stages in road ,\Q?ﬁ;rey project. [6]
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